


fc)

) A drig named _ to combat

diabetes, can be produced by using
genefic enginesring technique.

fii} The enfry point of energy in an ecosystem
is

Give one wordfterm  for each of the
following :

{l The special dlands present in human body
that secrete hormones.

fiit A micronutrient whose deficiency causes
the disease goitre in hurnans.

(i} The largest planet of our solar system.

Give in one sentence, the major contributions
of the following scientists :

") Antonie van Leeuwenhoek

i) J.C. Bose

iy Galileo Galilei

{v} Pythagoras




FET

{d} Answer each part briefly within 50 words 10

(i)
{ii)
{iii}

{iv)

)

What is a synapse ? Mention its role.
Write two applicalions of opticai fibres.

List any two airborne and any two
food-borne diseases of humans.

Differentiate  between renewable and
non-renewable energy resources.

Write about ahy two technological
achievermenis of Bronze Age.

3 - P.T.O.



SECTION B

" Note : Answer any eight questions. Limif your i

B1.

B2Z.

B3.

B4.

B5.

Bé6.

B7.

FET

answer for each guestion te 100 words,

Briefly describe any five technical innovations of
Medieval India. ’

Wiite any five features of ihe planet Saturn.

Make a diagrammatic representation of the
water-cycle. Write about any two factors that have
made watermnanagement one of the major
concerns of the modern times.

What are vitamins ? List the functions and sources
of any four vitamins,

With the help of a suitable example,?.explain how
does modern nformation technology affect the
life-styles of ihe individuals.

What is nuclear fissian ? Briefly discuss the risks
associated with the use of fission energy.

Briefly describe lhe role of science and technology

in achieving social objectives in any two areas of
human’ society.




B8. Explain the concept of resource mapping. How -
does remote sensing methed help in exploring
water resources and vegetation cover 7 5

B9. “Science has always played a crucial role in
production.” Justify this statement wilh suitable
exarnples, 5

B10. What do you understand by the terms saline and
) alkaline scils 7 How can they be reclaimed ? 5

B11. Briefly corament on the works of Aryabhatta and
Varahamihira in the field of astronomy. : 5

FST 5



SECTION C

Note : Answer any four questions. Limit pour

C1,

c2.

C3.

C4,

C5.

Cé.

EST

answer for each question to 250 words.

Discuss the  scientific  and  technological
developments during the period of Renaissance.

Discuss the impact of technology on environment,
List specific examples in this respect and suggest
remedial measures.

Enumerate the problems associated with the

‘modern agriculture. How can bictechnology play an
importanl role in improvements in this direction ?

Discuss the three ways of technology transfer. How
does technology transfer relate to self-reliance ?

What is a star ? Describe in detail the life slory of
a star, '

What is aggression ? Explein the binlogical basis of
agaression. Discuss whether aggression behaviour is
instinclive or learned response in humars,

10

10

10
10

1@

10
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